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QUESTION 1

Refer to the exhibit. 

Two S-Series switches have been configured as a VLT Pair. 

Which three conclusions should be made based on the output shown from the first peer switch? (Choose three.) 

A. The domain ID was administratively defined during the configuration of VLT. 

B. Spanning-tree has been disabled to ensure that no VLT loops occur. 

C. The System MAC was automatically defined. 

D. The peer link is down. 

E. The restoration of VLT ports after a system has been rebooted has been automatically configured. 

F. The command back-up destination has not been applied. 

Correct Answer: ACD 

 

QUESTION 2
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Refer to the exhibit. 

Switch A needs to be able to have full reachability to the entire networking fabric through the use of static routes. All
other devices have reachability to Switch A 

Which two static routers meet the requirement? (Choose two.) 

A. ip route 12.0.0.0 255.0.0.0 192.168.101.1 

B. ip route 11.0.0.0 255.0.0.0 192.168.102.1 

C. ip route 12.0.0.0 255.0.0.0 192.168.101.2 

D. ip route 11.0.0.0 255.0.0.0 192.168.102.2 

Correct Answer: CD 

 

QUESTION 3
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Refer to the exhibit. 

A network engineer is called onsite to troubleshoot replication failure and traffic loss. Whenever replication 

occurs between SAN A and SAN B, users report traffic loss between sites, and replication ultimately fails due to traffic
loss. 

Based on the topology shown, what is the most likely cause of the traffic loss? 

A. Traffic needs to be policed on the site border routers. 

B. An inbound policy map needs to be defined on the site border that marks the replication traffic with a DSCP value of
46. 

C. An outbound policy map needs to be defined on the site border that marks the replication traffic with a DSCP value of
46. 

D. Traffic needs to be shaped on the site border routers. 

Correct Answer: C 

 

QUESTION 4

A customer has two locations that are six miles apart and connected by customer-owned dedicated fiber. The customer
tells the deployment engineer that the two sites need to be connected by 10 Gb. 

Which two requirements should the deployment engineer verify? (Choose two.) 

A. 62 Micron Multi-Mode Fiber 

B. Single Mode Fiber 

C. Long Wave SFP+ Transceiver 

D. 50 Micron Multi-Mode Fiber 

E. Long Wave SFP Transceiver 

F. Short Wave SFP+ transceiver 
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Correct Answer: BC 

 

QUESTION 5

Refer to the exhibit. 

On switch S4820-2, commands are entered. The associated output is a follows: 
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Which command MUST have been entered previously on switch S4820-1? 

A. S4820-1 (conf-pvst)#vlan 2 bridge-priority 4096 

B. S4820-2 (conf-pvst)#vlan 2 bridge-priority 20480 

C. S4820-1 (conf-pvst)#vlan 3 bridge-priority 20480 

D. S4820-1 (conf-pvst)#vlan 3 bridge-priority 4096 

Correct Answer: A 
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